=

- ’ =5
a0l L
2 -
'y N %
57 o o
.
b
i
-
: SN
§




ZN C Youesk waoen oo
Hhaue 506 ENS@Zo\TaY _-HCQ\QI '
D, T powent “eaven Fogd-
OVoos. apn SIBCTEeRA O, gnaey
G, < Naenk o0 oG |
O howe 0p eex Yoeen S aEE

o, 7 o Jenk been (A&
ONOTE. 960 eI Jd ool
Rjes, Thhode BtunK g s S
oo 90 T eerantM

w085, T X0de B0eA o8




Vowe J

SocX J
Ot N

Pe AN,
Len
Tove, |V
AN

- WY
Lcne. \j
Coodex \j
‘fDupa«’\af\(& y
RN I )
%@\ASFL). \j
S5dert
“Onderond
2 cgo J
ok,
 FloweX J



e oo | 90 \“Oﬂ\c .@ﬁm@dﬂ, >

S ol Dol o 1,75 Skace. ) Al
"'FO(K)I'\CASV@/\ )w_g/ﬂt:gi /\f\& C\-gd% Qﬂ’d

aPr N 71
' ,_iouqf\éoa@ avwdq;\ K*?Je:b.é?ﬁ
- CON 2ee iy O pilne 0B 43[14’@&"@54%*7

Nadel U opke) P X/h@'gcxﬂ?:é\ o2 k@




)
|

LFA o Xe G@O\fgg\j@,bﬁl—%@- - Tinks

fnYhe | conero, 15400 e lioe DS
D Yup\\K geckes \d ﬁcﬁm.._ _
N Fask Y aenias  vode 5e
e & maw alo®d and hel doak
V"\VK1’>‘\-\"GYX C?\"’\g &%e’ LOLES

W Yo CA&’QLQ O\WO\%‘: “

vk, Qe | LG5k Yecnd 5244
o 1 For The en tomel | 7 | At
K Burkel g, oy e

H\e@ Jeue T\lc\ Ih -
)(\7‘:9 e 1 ‘ﬁr il

;“ﬂ\ 85 g vl MR

‘\._‘.x-—jl W bl ’ —; o ‘




,,,,,,

**«r——r — |

'P@mw e BRI e o
)Th%k%éf ek Pr’ne; méw@;:;ﬁl,;mv- Poctta
Ujamé ,1 d},ﬂ)&d b =2 _»f_/"ﬁ&f’é’_; Qi

=t
l
1

kg m@%b&d && \m,? | 53
%md% g Folled nfy serc T




SRCe HNe uaf:_:ﬁ?“lgégcms d.( s

| \\)/

¢ ngodl okl aedeas tﬁ:m’ﬂm‘zzqv

e Slkevifew) cios = 4 eslag

) hade \chp 5m+ A»th' C“’-‘ﬂ@‘f‘u‘/

JﬁJz,,, :

¥

/ \’\O\\J'U | . T P T
N — - = &;() est’( O\ XOAE 1", '
’\)0 krcﬂ&’fmg nﬁuehm \éw' he de P/
] ARy SOTmE
EEESE - TN

SZNREA 3’001/ Xeackex [T THLES
)‘Y h ! RS S _fﬂ—L:T //
| H@w dﬁﬁva @i’@)vo,vn'_qe e




H””w;;teﬂoﬂsemﬂe thep 4 ?ﬂﬂ ‘

e E .
present Perfect in this way, joins t),vqgst andf

l The ey TRy - ,.

| : ‘ 4 m S L o

ep,esentperfectused in this way %,.E ) {

»

fh

 omple® for 18 years. 1|
: ived in this house /
:,:a::;'ﬁrked for this company since 1987

both these examples, the action starte
} ,,:med and finished in the past, we must

" : Prgrond Daind BY
(jived in that house for tenyears out then|
4e worked for IBM for six years, then

', Wiite sentences in present per
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Answers...

You Scored 9 out of 10

This gives you a grade of A.

Question
Question
Question
Question
Question
Question
Question
Question
Question
Question

| Close |

1 - Correct.
e -.Correct,
3

4 - Correct.
5 - Correct.
6 - Correct,
7 - Correct,
8 - Correct.
B Correct,

10 - Cortect.

- Incorrect. Actual Answer was: times has he.
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